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Choose and write the correct option :

(i)

(i)

(iii) 1

(iv)

(v)

(vi)
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If f:R— R be defined as f(x)=3x, then
(a) S is one-one onto.

(b) f is many one onto.

(¢) f is one-one but not onto.

(d) f is neither one-one nor onto.

The principal value of cos™ (———]
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If = , then the value of x is :
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If E} and 5 are two non-zero vectors and g- 5 =0, then

angle between these two vectors will be :

(a) 9=12‘- (b)) 8=0
W
(c) 6=n (@) 6=

The probability of obtaining an odd prime number on each
die, when a pair of dice is rolled, is :
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o
(i) afx y=log(logx),x>1, ﬁg%= e sabind
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(i) @& 99 @ Boa r=6cm 9T,r % @n@ daww § wrEdT B
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(iii) o —-l<x<I, @ sin(sin"l-;g)
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Fill in the blanks : N
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o
(i) If y=log(logx),x>1, then D
o dx

N
(ii) The rate of change of the.anfg?'of a circle with respect to its radius

atiZ=06 ém  isT
' ' L)

=
(iii) If —1<x<1, then sin(sin"“%c) -
(&)

(iv) If I, m,n are the direction asme of a line, then
P+m?+n2=

(v) IfA {1 2,3}, then numba of quiivalence e lnoreeni:
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(v) o A4 @ 2 & e oS ¥ det (4-1) = det (A)
o :

 (vi) AR A TE srwmiE areE i::m'[zﬂ% B &1

(iii) Inverse of a square matrix,

-l;!
o
Write True or False :

S, . |
(i) If a function / is invertible, %hen / must be one-on¢ and onto.
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(i) IFA"= —A, then 4 is a .sym‘gmmc- matrix. :
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Match the correct pair :

Column 'A'

(i Ilﬁa-z @
(i) [Vx*+a? g (b)
(iii) [tanx dx (c)
(iv) [eotxdx (d)

) [Vx*-9 dx ©
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(vi) Imﬁ..

(vii) simplest form of
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M f(x)=|x],xer &R W3 G /@ Py we ffa ?}
() 3R P(B)=0.5 ot P(4nB)=032, a P(A/B) as:wrﬁrftm
(i) Sfeer e @ wfowrar frfa ' Q
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(iv) (:x_;) k+(; xk) i ‘El’ " faftaa)

v A=B ﬂ A Jadi ()| & 7 e
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(vi) tan~!x 2t &g 7 aar wouiEy fafe
(vid) ST T B B £ (x) =22 2% 4 s e s )

Give answer in one word / sentence each :
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() Write the minimum value of the function fgiven by 7 (x)= [x]. x E?ﬂ' .

(i) If P(B)=0.5 and P(Ar*sB) 0.32, then write the value of
P(A/B). : o

(iii) Write definition of scalar matrix. . . I

YO e s ¥ b e, .-"“' L RCLY
i ‘L--_,‘-":_ﬂ::_' "-:3-'!.'5'.'."'-'-"'*."-"'-“ ':rh‘ 0Ol an 3




Rre #ift fe aqem (1,2,3} % R=((1,2), (2, 1)) @00 waar &4 R 2
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Show that the relation R in the segl 2,3} given by R={(1, 2), (2, 1)}
is symmetric but neither reﬂexn@ nor transitive.
e

: s | OR

T ARG R A = {1,2,3}, B= (4, 3,6, 7) @ AEL £ = {(1,4). (2, 5). (3.6))
AR B w v b fvm AW P £ ok ¥
o

| : N |
LetA=1{1,2,3), B={4,5,6,7} and let /= {(1,4),(2,5).(3.6)} bea
. _ -
function from A to B. Show that / is one-one.

0&503029

g @i 3cos™! x=cos’ I(44::3

x),xé[%, I]. 2
x),_x E[%, 1].

Prove that 3_.cqs"
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1f x| 2[4 [ 1] [10 find AT, |
7 1] a4 1 [T| 5 |+ find the value o xmigy.

Ly
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dHa /| OR o

O

Rz #ifrg B amee 4= -1 o 1 qq;ﬁq’m“mﬁmmtl
1 -1 o '

045030

OIS A
Show that the matrix 4= =1ER0E]Nis e skew symmetric matrix.
1 -1 o

04503029

Hrage 'A=E :]mmmmahm|

o
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Find adjoint of the matrix 4= : (4]
. - -
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If 2x4+3y =siny, then find -@. :?J
dx (=
st | @R
g x=acosh, y=bsin®, @ L l'lgﬂ?lﬁrq:
If x=a::059,y=bsin9, then find ﬂ
dx
[+ )
11 Icoszxa!r F HA Fd P E," -
|
Find the value of J'coszxcﬁ. Ltc‘l
-
991 | OR
Iltfz sin"x e ﬂR
0 sin*x+cos? x SLAT R &
(4]
Evalua!:e J’ﬂz sin® x dx . ‘?"
0 sin*x+cos?x A
=
r""‘\ -’
Qz/amﬁaﬁﬁtqfﬁmy e“wmzz*ﬂ"ﬁy“ 2
o dx
F % Td 51 o

- w d i y
Verify that the function y=e=3% is’a solution of the differential

. d*y dy | ﬁ
equation ——+——6y=
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afesr P_é ﬁim@f&ﬂmgﬁ{ﬂmiﬁfﬁqmﬁﬁgPaﬁTQi‘h’qﬁli(].lh 2
3T (4, 5,6) ¥

o
Find the unit vector in the direction of veétor PO, where P and QO are

the points (1,2, 3) and (4, 5, 6) respectively.

Igar /| OR
chn

= A A A A =
afkst a=2i+3j+2k 1, | F:f+=2f+£ U7 Y9 | DI
lr"]
. . A A A
Find the projection of the vector §=2r‘+3j +2k on the vector

ch
o

—F A Fah P

b=i+2j+k. —
¢
o
L)

'-:T{
[t

= A A E == A A A
< =j+ j— =7 -7
WL a=i+j—k am b= J+k & q B B T Bt

)

: : —
Find the angle between the vectors a = ‘?+ ‘? —3 and F: ?__;'\4.;{
L™ s

=

s¥E | OR

i e e 5’)-(-‘£’+§)=12 ]
o

Find ,;', if for a unit vector :, (;-@(?.,. 3):12
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Find the vector equation of the line passing through the point

(5.2, -4) and which is parallel to the vector 3; + 2}- R;(_

%Y@ /[ OR
e .-1'_5 +I2 2 X 4
asd fF @ =2 =—aﬁ1—=-‘£=—trm7_r~ra;n
7 &5 | L aie?: By
= X=5 UWy+ z
Show that the lines — =,y_52 =% and %:-2}i= 3 are perpendicular

to each other.

16 t':cﬁ&msﬂaﬁqmwm-?ﬁm%aﬂ?ﬂﬁqﬁﬁ4cmfsaﬁrﬁa 3
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A% fpar ast ¥ 4% @n E7

A stone is dropped into a'quiet lake and waves move in circles at a
speed of 4 cm/s. At the instant, when the radius of the circular w aves
is 10 em, how fast is the enclosed area increasing?

‘sa [ OR
q ST I BT R OF (x) = 4x — 652 — 72x+30 =T we= T S
(a) FHEE (b) BTEAN ¥ A4

Find the intervals in whi&h the function / given by

f(x)= 4x’ —6x> ~T2x + 30 is (a) increasing (b) decreasing.
o

17w & T & 9u 242 =16 3 B 8w @ dwew T AEw 3

: 2
Using integration find tl@area enclosed by the circle x*+ )y~ =16.

7 apmr | OR
2
W%W?{W%*%ﬂﬁmaﬁwmmm'

2 2
;—-:l'

X
Using integration find the area enclosed by the ellipse —=+-7

] _l'\'.
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s st & ot 4
Z=3x+4y @ st B

=)

X+y<4,x20,y20 Ty
o
Maximise Z =3x +4y o

Subject to the constraints : N
o™

X+y<4,x20,y20 o

-

s | OR
P s ¥ ity 4

Z=—4x+3y & gATHHIT aﬂﬁ%

X+2y=<8, 3x+2y£12,.x20,‘}e30

N
Minimize Z =—4x+3y ﬁj

-
Subject to the constraints : Q'

0y
X2y < 8,-3::+2y£12,x20,yé}20

W A A 3 A o 3w WY ot we oo &% X 4 @ s

5 T A ¥ A A X} wE B agesw g www & ol swd ¥ w
ﬂ?ﬁmﬁﬁ%ﬁﬁsm%@qwaﬁwmﬁmtﬁs?ﬁqﬁaﬁ
T Framr o %2 5

A bag contains 3 red and 3 blﬁik balls and another bag contains 4 red
and 5 black balls. One of the two bags is selected at random and a
ball is drawn from the bag which is found to be red. Find the probability
that the ball is drawn from the £ 25 Eimeles S i

—
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20 I y=sin- xtﬂ’fﬂﬁﬂﬁi(l x)——y %=
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dx!
.Lﬁ
d’

If}' sin~ x thenshﬁtb that (1 x) xi‘?—=0-
& dx® dx
N 3va /| OR

K%mﬂﬁmﬁmﬁﬁﬁq

K cosx U"’ T
f(x)= ‘.'l:-—ZJ: | 2
3, afy x =2
o 2

5

a0 9Rife s x%mﬁﬁatl

Find the values of K'so that the function defined by

e
___icuzsx, ifx#%

f(x)= 3 4
" ] T
3: lfx:.‘?—z"

")
o
is continuous at x= %

HHE §d #Iifwg
Evaluate :
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22 e wiiE x%+2y=x2(x;sqgmm.wmahﬁm i
X y
“‘I - Ll
Find the general solution of the dliirﬁiferenlml equation
'ifé‘-’--'..z = .2 - D w
l:f.ﬁf y=x-(x#0). o
st [ OR
. . o |
ST FHIHR (xz—yz)c_iw'z;yd)%o &1 HIE A S B |
Find the general solution of the dipﬂ'crential equation
<
(.\-2 Hyz)d\'+ 2xy dy=0. (v
4 |
o
L9 = e e _
23 Tanei -’4'-+.l=J’+l=z+l m.\pﬁ:y.S:z ?aiﬁtﬁ‘-ﬁ /
R (R 2ok ol
A T T -

X+l Ll 2] and
T =G RS

Find the shortest distance between: the lines

o
(o)
™
o
Ty
3 2)1‘ OR
i
(e
i

X—3 s P58 =T




